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(1) READING MISCUE INVENTORY QUESTIONS

Question 1: DIALECT. Is a Dialect Variatioh Involved in the Miscue?
If a variation is involved, the approximate box is marked "Y"
for yes. '

If no dialect variation is involved, the box is left blank.

Question 2: INTONATION. Is a Shift in Intonation Involved in the
' Miscue?
If a shift is involved, the appropriate box is marked "Y" for yes.

If there is no variatioh involved, the box is left blank.

Question 3: GRAPHIC SIMILARITY. How Much Does the Miscue Look Like
what Was Expected? " o

Y - A high degree of graphic similarity exists between the miscue
and the text.

P - Some dégree of graphic similarity exists between the miscue
and the text. '

N - A graphic s}milarity does not exist between the miscue aﬁd the
text. -

Question 4: SOUND SIMILARITY. How Much Does the Miscue Sound Like
What Was Expected? " |
Y - A high degree of sound similarity exists between the miscue
and what, was éxpected.
P - Some degree of sound similarity exists between the miscue and
vhat was expected. |
N - A sound similarity does not. exist between the muscue>and what,

'was expected.
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N -

Quest.ion
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6: GRAMMMATICAL FUNCTION. Is the Grammatical Function of
£he Miscue the Same as the Grammatical Function of the
 Word in the Text? "
The grammat.ical function of the two are identical.
It is not possible to determine the grammatical function.

The grammatical functions df the two differ.

6: CORRECTION. Is the Miscue Corrected?
The miscue is corrected.
There is an unsuccessful attempt at correction. Or a correct
response is abandoned. '

There has beén no attempt at correction.

7: GRAMMATICAL ACCEPTABILITY. Does the Miscue Occur in a
Structure which Is Grammatical Acceptable?

The misque occurs in a sentence which is grammatically

acceptable and is acceptable in felation to prior and

subsequent. sentences in the text.
The miscue occurs in a sentence which is gfammatical acceptable
but is not acceptable in relation to prior and sqbsequent
sentences in the text. Or the miséue is grammat.ically acceptable
only with the sentence pqrtion‘that comes before or after it.

The miscue occurs in a sentence that is not grammatically

.acceptable.
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Quest.ion 8: SEMANTIC ACCEPTABILITY. Does the Miscue Occur in
a Structure which Is Semantically Acceptable? |

Y - The miscue occurs in a sentence which is semantically
acceptable and is acceptable in relation to prior and
subsequent. sentences in the text.

P - The miscue occurs in a sentence which is semantically
acceptable but. is not.acceptable in relation ﬂo prior
and subsequent sentences in the text. Or the miscue
is semant.ically acceptable only with the sentence portion
that. comes before or after it.

N - The miscue occurs in a sentence that is not-SEmantically

acceptable.

Question' 9: MEANING CHANGE. Does the Miscue Result in a Change
of Meaning?
Y - An extensive chﬁnge in meaning is invloved.
P - A minimal change in meaning is involved.

N - No change in meaning is involved.
* v 3 L3 3 . * 0 . .
If the miscue is an omission or insertion, this category is not. marked.

If the miscue involves more than one word, this category is not marked.

If the miscue involves intonation, this category is not marked.
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(2) THE TYPE SCEIPT WORKSHEET

, THE EDUCATION OF SARAH .
(From Pimsleur, Pa-1, and Donald Berger. Encounter : A Basic Reader.

New York : Harcourt Brace Jovanovich, Inc., 1974, pp. 96-101.)

@hi- ' 1eloce 3"'1;*"‘-' -
0101 The(chm zee may be the! a.n1mal closest, in 1nt.e111-
2 n‘bl-m ..:!'
'BQZ:» Actinm - ‘@tyjéb
0102 gence to man. How close? lSc1ent.18ts have often‘ tried
s &
0103 to discover in chimp§) the skill that makes méan different
7@ g . 4
0104 from all other living thing®: languagegy Until now, s they
: 10 dsean't
0105 have failed 5 the chimp simply does nqt. have the ability
1 gehy : ® b
0106 to speak that every human child is born with. IBut
12 , .
uc Pﬁﬂ‘&.ﬁ— ©pﬂ‘vh—
0107 psychologist Davileremack of the University of California.
§ 3 Zsuccaided % & Simpansee
0108 has succeeded in showing that the chimpanzee
s . b e
0109 © can "talk"i with man.in ways other than bv tongue.
s @ e %) 20
@ 7 Prove Sara ' He
0110 Premack @proof is Sarah a female chimp with a

Z bu,a.!‘ Y]
Sa rah

t veeabla ‘ ‘ '
0111 vocabulary of more t.han 120 words. Sarah cannot only
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208
0201 understand the meaning -of these worc@, but can use

2 @&

0202 them to bpiid sent.enc@of her own.
a5 @

 Savah
0203 To teach Sarah, Premack cut certain shapes out of
‘ 2%
; 2é a,b@t a7 @ ¢ nc‘eﬂ e
0204 plastic and attached them to piece§)of metal so that
2 @
savah
0205 Sarah could "write" with them on a magnetic board.
@ s6 2 wish prastiee 52@ s@ 3¢ 3y @
| wish pastic sarveb boo s"{:\re e mean
0206 With practice, Sarah learned that a blue t.rlangle meant.
; @
3* led
0207 an apple, a red square, a banana, and so on. In time she
»@ unad | 3a @
0208 learnéDsymbol@) for each of her four trainen§} plus
w@ - w1 @ 2 @
0209 other® for colow®, and object® such as pail, a cup, and
s W . ¢e @
2) £ a sawple os @ led
0210 e dish. For example, [} stand® for red, and ‘Gaf
@
® 47 “dlis
0211 |st.anc@for dish.
41 o ' v
0212 All this was merely vogdbularv " To teach Sarah
bg 2 ramw.a,. @
we) | Grammer So '
0213 | grammar, Premack present@ a new symbol meaning
5@ | sz
Sardhy $ popese
0214 "on". Sarah learned to understand the purpose of this
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s3

‘ 9m'm A
0215 word by watching himf place the green symbol on the
s¥ ra/n
0216 blue one, t.he red one on the green one, and so on. One
s¢ @ |
0217 of the first sentencef) she could understand was the three-
0218 symbol command :f*@b“\"(}reen goes on red").
@ .
Sgnl\ vy 6)
0219 Before long, - Sarah kew how to obey command§)in
Po - s« ® o2 @
0301 twelve (possible pau@ of colorg) and she could do it
0302 correctly 80 to 90 percent of the time!
» b
bo Wt ’{’n‘de.s
0303 Premack tells"‘with almost, fatherly pride of the day
,\ | 0@
0304 when his student invit@her trainer to play a game.
63m?amn ,)( 6y @
0305 The trainer had set up some meaningless sent.e-
0306 "Red is on banana," “Apple is on green" -- merely to
bs & 73c
Sarch | ' : sarsh
0307 test. Sarah’s und.erst.tfmding -of grammar. Suddenly, Sarah
" ‘ 6y
S v l'HCOmpIeau.
0308 ' took charge of the game. She set out the incomplete
Y /@ _ @
0309 sentenfe)"Apple is on-.." and then[gave the trainer
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0310

0311

0312

'0313
0314
6315
03186
0317
0318
0319
0320
0321
0322

0323

0324 .

LI 499

W@

several possible endin@. She considered only one of

70 tollect
them, "banana," to be correct. She led her human trainer
4 bue 92 @

through the various choice® until she had taught him the

gane,

w & ‘
Savah V¢ @/) e
As proof of Sara.h’é intelligence, Premack tell of an
726 ’ ‘ ‘
Savoh wlul

experiment in which Sarah was given a real apple and

v @

asked to choos’e the symbols for it; red or green. rour@)

or square. This she did easily. Then, in place of the

| u-'l:rau“h?_aﬂ $o

‘77,”0 l-‘t/‘m?
apple, she was given its symbol, the blue ;t.riang e. Again

31 @

she was asked to choose other symbol@ to go with it.
g @ 3 cheolt

$3 ,
@D 1 shore nounded red —
without difficulty, (she chose "roundness" and {"redness"
b1 @9 2TCrarn 22.
“Poo Ly w ®
to go with the blue triangle - proof, writ@?remack,

@ 5% .
& 7"-»«3 werte boe @
"that. the chimp thinks of the word not as itself (blue
Qo éb
/

plastic) but as the thing it represent§ (red apple).”

41 & (:)CA;W\~ ‘
Aft.er‘ two yean®’ work with only one ‘chimpa.nzee.
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0326

0326

0327

0328

0329

0330

0331

2
gerain
David Premack@;gtuarally does not. claim anything more
95 2% -
de Savah 17 e @ a3
than that Sarah has showf) intelligent ause .of “language.

UThis does not medn that she can|produce all the

functions of language, or that she can do everything

99
a human can,";\he writes. "But then" he adds hopefully,

@ nelats -

"we have only been working with her alrélat.ively short

time."
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1. Who else.was in the stor&?'

2. Tell me about them, E .

3. What was (name of key ch&racter) 11ke7
fadeinm : Hdadavas ma;kuqun*nmwmugmm;ﬁﬁu

i

a4 .!l'l 4
LOAINU L WO T LWL 984

4. Can youn think of ahythiﬂg else that' happened?

5. Where did the story takeiplace7'

4 w FYRRE 4 |
LnganuLan lesel 1av F

6. Why did «name key event,) happen?
v ¢ ddu e w ow 1 Y
HAANLNG ¢ lﬁtawﬂztqu11m‘”aﬁuaﬂﬁnqtnwuu
7. Wwhat. was the problem the story was trying to-solve?

8. How did the story make ydu feel?
why?

4 & J " N
ANAMMNUBEIL 7B

9. What do vou thlnk the story was telllng you?
10. Why do you think the authpr wanted to write this story?
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Retelling Script

! B
Please tell me the stony

The story of.....it taﬂk about. Doctor Premack that try to prove
that how much the 51mpahzee know in sentence or the word. Then

he can understand......trained Sarsh...... .try to the 31mpanzee
that name Serah. What.....er.....

That’s all? |

‘That's all.

0.K.

You ment.ioned that Premmack. Who is Premack?

Premack is the.....

David Premack; |
The doctor of pSVCholog&

0.K. You told me the experiment, How did the scientist do to
the chimpanzee?

Made the svmbols\ Try io let’ simpanzee make the sentence by her
own. That how much sbe can understand how to make a sentence.
Something like that. | "

Can you remember about Lhe experiment?

what did the scientist use in the experiment?

He use what?

what he used in the expexlment

He cut plastic to be the sign of somethlng and then made the
simpansee put it together to be a sentence.

Do you know the name of the chimpanzee?

Yes. _ -
What is the name of the chimpanzee?
sarah. | |

LI 499




-3

S 9 w4
1)

Li 499

word in that sentence.

Sarah, a female or male chimpanzee?

Female.

You said that Dr.Premack tried to prove that the chimpanzee can
talk. You mean that she talks like a human being?

No, she can understand when the people say and she made a sentence
by her own. She couldn’t talk.

How did she tell thé scientist? v

She put the symbol that,scientist cut from plastic and put -in the
board to make a sentence. |

0.K. How many words that the chimpanZee know?

120. ‘

why Doctor Premack try to prove in his experiment?

What, did he try to say about his experiement?

He says he Jjust learn with the chimpanzee quite relatively in a

short time..... something like that.

0.K. Can you tell me some more about the experiment?v

..... play game with the chimpapzee by put the sentence, the word
like "The red can go with..... " and let the chimpanzee put another

0.K. From the experiment did it show to you that the chimpanzee
can read?

Not, feally.

How did she show to the scientist? ‘

She made a completé sentence by her own but as it suppose to be in
that sentence. |

0.K. Very good. Do you like the story?

Not really.

'0.K. You have something more to add to this story?

No.
0.K. Thank you very much.
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READING MISCUE INVENTORY READER PROFILEK

COMPREHENSION PATTERN

Percent. of relationships of NO
Comprehension Loss to Partial
Comprehension Loss to

Comprehension Loss

Reader’s Use of
Reading Strategies
, Highly Effective
Hoderately Effective
Some Effective

. Ineffcet.ive
Percantage Line ] .
0 10~ 20 30 40 50 60 70 80 90 100
ceescsoPoccaee o‘.-oonun..oc-o-...-ooo.‘--o.u....-cno.-oo'l--.' ooooo Sesove

FTTE N l;Jllglll;l lel lell |

ppevdeerw dpvar bapondeann

Frequency Line

RETELLING SCORE

Repeated and Multiple Miscues

Frbquency Frequency Occurrence
Reader Text of Miscue | of Text Item | of
Ocecurrance| Occurrance Correct.ion

130

LI 499




Frequency Frequency Occurrence

Reader Text, of Miscue | of Text Item | of
Occurrance| Occurrance Correction

SOUND/GRAPHIC RELATIONSHIPS
Graphic Sound
High Some - None Hight Some: None

100 100 100 100 100 100

90 90 90 90 90 90

80 80 80 80 80 80

70 70 70 T0 70 70

60 60 60 G0 60 60

50 50 50 60 50 50

40 40 40 40 40 40

30 30 30 30 30 30

20 20 20 20 20 20

10 10 10 10 10 10
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GRAMMATICAL RELATIONSHIPS

Function o ‘ ~ Relationships
Identical |Indeterminate|different| Strength | Partial |Weakness|Over-
Strength| correction|
100 100 100 100 100 100 100
90 90 90 90 - 90 90 90
80 80 80 80 80 - 80 80
70 70 70 70 70 70 70
60 60 60 60 60 60 60
50 50 [ 50 50 | . 50 50 50
40 40 a0 | 40 20 40 40
30 - 30 30 || 30 30 30 30
20 20 20 20 20 20 20
10 10 10 10 10 |. 10 10
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